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1. [Morphology and Phonology] (35%) 

Swedish is a Germanic language with morphological marking of nouns similar to 

that of English, but with some significant differences. Consider the following forms 

(given in Standard Swedish spelling) of nouns and answer the ,questions. 

a. enlampa 'a lamp1 I. en bil 'a car' 

b. stolen 1the chair1 m. bilar 1cars1 

c. en tidning 'a newspaper' n. kattama 'the cats' 

d. lampan 1the lamp' o. en katt 'a cat' 

e. bilen 'the car' p. soffor 1sofas1 

f. en stol 'a chair' q. tidningarna 'the newspapers' 

g. soffoma 'the sofas' :r. bilama 'the cars' 

h. katten lthe cat' s. lamporna 1the lamps' 

i. tidningen 'the newspaper' t. stolarna 'the chairs' 

j. kattar 'cats' u. en soffa 'a sofa' 

k. tidningar 'newspapers' v. soffan 'the sofa' 
w. lampor 'lamps' 

(i) What Swedish word corresponds to the English indefinite article (a/an)? 

(ii) What are the allomorphs of the definite morpheme? Where do they appear? 

Please describe the phonological environment for each. 

(iii) How is the indefinite plural formed? How about the definite plural? Please be 

sure to describe their distribution if necessary. 

(iv) How would you say the forms of the following words: 

en flicka 'a girl' 
en klanning 'a dress' 
en blomma 'a flower' 
en buss 'a bus' 

Definite Plural Definite Plural 
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2. [Syntax & Sentence Processing] (25%) 

Consider the two sentences given below. The first sentence is ungrammatical but 

easily parsable, whereas the second sentence is difficult to parse but grammatical. 

(1) Ungrammatical sentence: The dog ate bone big the. 

(2) Sentence that is difficulty to parse: The boat floated down the river sank. 

(i) Explain why (1) is ungrammatical. Please refer to the "phrase structure rules for 

English" in your explanation. 

(ii) Please draw a syntactic tree for a corrected version of sentence (1). 

(iii) Explain why (2) is difficult to parse. Explain how the reader initially tries to parse 

the sentence and why this does not work. 

(iv) What is the term for sentences that induce backtracking effect like (2)? 

(v) Which sentence, (1) or (2), is harder to understand? Why? Please be specific. 

3. [Sociolinguistics] (15%) 

In Columbus, Ohio, there are two variants of the pronunciation of /stJ / clusters at 

the beginning of words like street: [stJ] and rJt.1]. Avid Durian constructed a study in 

2004 about the distribution of the two pronunciations, and found the following results: 

Gender Age (in 15-year groupings) 

Male Female 15-30 35-50 55-70 

. [st1] 84% 68% [stI] 61% 71% 91% 

[ft1) 16% 32% [ft1) 39% 29% 9% 

Based on the above, when both gender and age are considered together as social 

factors affecting the use of the vernacular pronunciation rftJ]: 
(i) Which gender/age group uses this pronunciation the most? 

(ii) Which gender/age group uses this pronunciation the least? 

(iii) Why do you think these were the patterns of language use Durian observed? 

Please provide possible explanations. 



* ?}T J}I ft.JI. JJ1J : >'r ii ti x. * * ,z;~ ± J}l li ft.JI. ( ti 1; ti ~a~ ti* ft.JI.) 

~titH- § ( 1\,z;,~) : tii: *tYJttffif ( 4001) 

#_3_J , 'At_3_Ji 

4. [First Language Acquisition] (25%) 

A. Suppose a friend of yours has a son, Simon, who is three years old. Your friend 

has been explaining to you that Simon has a problem with forming the past tense 

of verbs, for example, Simon says "Yesterday I go to the par!<' and "Last week I 

swim in the pool." But your friend has a plan: he is going to spend one hour each 

day with Simon, having the child imitate the past tense forms of the verbs, and 

he will give Simon a piece of candy for each correct imitation. 

(i) Which theory/theories of language acquisition does your friend assume? 

(ii) Will your friend's plan work? Explain why or why not. 

(iii) What suggestions would you give your friend? Explain why, using a relevant 

theory to support your suggestions. 

B. In English, forming a yes-no question involves moving an auxiliary to the 

beginning of the sentence, as shown in (3). For a complex sentence containing a 

relative clause, like ( 4a), moving the first auxiliary, as in ( 4b ), leads to 

ungrammaticality, while moving the main auxiliary, as in ( 4c ), produces a 

grammatical output. 

(3) a. The boy is sleeping. • Is the boy sleeping? 

(4) a. The boy who is sleeping was dreaming. 

b. *Is the boy who sleeping was dreaming? 

c. Was the boy who is sleeping dreaming? 

Question: 

Both naturalistic and experimental studies show that with complex sentences like 

(4a), children correctly invert the main auxiliary to make grammatical output like (4c) 

and they do not produce mistakes like ( 4b ). Please answer the following questions and 

be as specific as possible. 

(i) What does this phenomenon tell us about children's linguistic knowledge? 

(ii) What implications does this observed pattern have for theories of first language 

acquisition? 


